Mat-2.4146 Integer Programming Bartolini
Final Exam 8.4.2014

(c) Consider an instance of IP defined by the following data: f = (4,8,11.9, 5), and

6 2 185
410 2 6 1
ey=| 3 2413
y 2 0 41 4
1 8 625

3 1481

Using the Lagrangian multipliers @ = (3,4,2,2,5.1) solve the Lagrangian subproblem
IP (1) derived in (a) and report its optimal solution (x(ii), y(@)), and the corresponding
dual bound.

(d) Compute the subgradient at @ that would be used by the subgradient algorithm. Can
you conclude that (x(@),y(@)) is optimal for IP?
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